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M.A. (PART-1) )

ECONOMICS
Micro Economics

(PaPer—“ Q.P.No.: 21111
April 2016

(3 hours) [Total marks : 100

N.B. 1. Attempt ant four questions
2. All questions carry equal marks
3. Figures to the right indicate marks

1. a Explain Shephard’s Lemma as a special case of the envelope theorem (12)
b IHustrate the assumptions underlying the Von Neumann utility analysis (13)
2. a. Given a production function for a Cobb-Douglas technology: (12)

f(x), x2) =x1°x;'*
Define and explain each of the following terms in the context of the above technology
i) Technical rate of substitution
ii) Elasticity of substitution
iii) Production possibility set
b. State and prove the properties of a short run cost function (13)

3. Write notes on each of the following: (25)
i) dominated strategy :
ii) normal form games
ili) Nash equilibrium
iv) extensive form games
v.)Saddle point

4. Comment on: _ (25)
a. Signaling and screening :
b. Adverse selection under uncertainty with reference to the insurance industry

5. State and explain

a. The Fundamental Theorems of Welfare Economics (12)
b. Stability and uniqueness of general equilibrium. {13)
6. Discuss any two: (25)

a. Measurement of welfare: compensating variation and equivalent variation.
b. Externalities

c. Concept of ‘Core’ in general equilibrium

7. Write notes on any two: (25)
a. Homogeneous and Homothetic production functions
b. Duality of Cost and Production function
¢. Kafecki’s model of distribution
d.Bertrand’s model of oligopoly
e.Moral hazards and the principal-agent problem.
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[ M.A. (PART-I) )

ECONOMICS
Macro Economics
(Paper-1l) Q.P. Code : 21426
\_ April 2016 y

(3 Hours) [ Total Marks :100

N.B.: (1) Attempt any four questions
(2) All questions carry same marks.

1. (a) Explain the adjustment towards equilibrium in IS-LM framework.
(b) Describe the Neo-classical growth theory

2. (a) Explain the life cycle theory of consumption
(b) Explain various measures of money supply

3. (a) Elaborate on the transition from short-run to Long-run Phillips curve.
(b) Describe the money and inflation link

4. Explain in detail the Mundell-Fleming model under fixed and flexible
exchange rates

5. Explain the following
(a) Lucas critique
(b) The efficiency wage model

6. (a) Discuss the co-ordination problem
(b) Rules versus discretion

7.  Write short notes on any two
(a) Keynesian multiplier
(b) Interest rate targeting
(c) Monetary approach to balance of payments.
(d) Liquidity tyap
(¢) The role of credibility.

[TURN OVER
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M.A. (PART-1) -
ECONOMICS : ,
Agricultural Economics ‘ QP Code : 21815
(Paper - 1) | ‘

April 2016

J

(3 Hours) [ Total Marks : 100 -

N.B. : (1) Question no. 1 is compulsory.
(2) Answer any three questions from the remaining six.
- (3) .. All questions carry equal marks.

. Write notes on any three of the following :-
(a) Characteristics of demand for farm products
(b) Backward bending supply curve '
(¢) Functions of agricultural prices ‘
(d) Non-institutional credit to Indian farmers
.(¢) 'Determinants of wage rates
(f) Co-operative farming

. (a) Listoutin detail the factors affecting demand for farm products.
(b) What are the measures adopted by the Government of India to overcome
the problem of hunger?

. (a) Bxplainthe Cobweb model.
(b) What are the factors affecting supply of farm products?

. (a) ‘Explain the behaviour of a rational farmer with respect to product - product
relationship.
(b) Examine the role of buffer stocks.

. Examine the role of organized credit market in providing credit to Indian farmer
since 1951.

. Attempt any two :-
(a) Explain any one method of measurement of unemployment.
(b) The types of employer—employee relationships
(c) Free and unfree labour

. Attempt any two :-
(a) Any five theoretical restrictions on the land market.
(b) Crop sharing practices in India
(¢) Analysis of rural classes

[ TURN OVER
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[ M.A. (PART-1) A
ECONOMICS
Industrial Economics
(Paper -1) QP Code : 21567
\ April 2016

(3 Hours) [ Total Marks :100
N.B. : (1) Attempt any four questions.
(2) Figures to the right indicate full marks.

1. Explain the following in brief:

(a) Chamberlin' small group model 13
(b) Bertrand model of Price competition 12
2. Explain the following: 15
(a) Ratio analysis 10

(b) Sensitivity analysis
3. (a) Explain the concept of dead-weight loss under monopoly. 13
(b) How is the monopoly power measured? : 12
4. (a) Explain the Laucastrain Approach to product differentiation. 13
(b) Write a note on Dorfman-Stenier model of Advertising behavior. 12
5. (a) Explain the Hirschman-Herfindahl index. 13
(b) Examine the concept of Contestable markets. 12
6. (a) Discuss the role of Small scale industries in Indian economy. 13

(¢) Explain the impact of Globalization and privatization on Indian industries. 12

7. Write notes on any two of the following: 25
(a) Sales maximization
(b)  Sources of industrial finance
(c) Economics of patents
(d) Weber's Theory of industrial location
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